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SECTION - A (10x2=20)
Ar:swer any TEN of the following questions in 2 or 3 sentences each.
Give the meaning of share.

What do you mean by underwriting of shares?

Why do we create a Capital Redemption Reserve?
What is a sinking fund?

Give the meaning of goodwill.

What are super profits?

Give the meaning of irredeemable preference shares.
List out any two factors affecting goodwill of the firm.

What do you mean by forfeiture of shares?

What are debentures? ST ALQYSIUS QOLLEC ]1
- g : : LIBRARY ;
Give the meaning of Rights issue. MANGALURU - 675 003 |

What is partial underwriting of shares?
SECTION -B (5x5=25)
Answer any FIVE of the following questions in not less than one page

each.
List out the legal provision stated under the Companies Act pertaining to

redemption of Preference Shares.
Write a note on Book Building Process.

4. X Ltd. issued 2,00,000 shares of ¥ 10 each. The whole issue was underwritten by

M/s Arun - 1,00,000 shares, M/s Brain - 60,000 shares and M/s Charan - 40,000
shares. Application was received for 1,60,000 shares of which marked application
were 80,000 shares of M/s Arun, 28,500 shares of M/s Brain and 41,500 shares of
M/s Charan. Determine the liability of underwriter.

Profits of a business for last 5 years:

2018 : 53,000; 2019: 50,000; 2020: 42,000; 2021: 45,000;

2022: 40,000
Normal rate of return is 10%. Assuming that additional managerial remuneration

of 6,000 will have to be incurred in future calculate the value of goodwill under
Purchase of Average Profit, if the number of years of purchase is 4.

A Ltd. wishes to redeem its preference shares amounting to ¥ 1,00,000 at a
premium of 5% and for this purpose issues 5,000 equity shares of ¥ 10 each at a
premium of 5%. The company has also a balance of ? 1,00,000 in P&L a/c and 2

50,000 in General Reserve. Journalize the above transactions.
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Page N, 5
© 4071-?3rleﬂv explain the various methods of valuation of shares.

i i he following:
8. Pass journal entries for t
i Issue of Z 1,00,000, 6% debentures at par redeemable at par.
. r

ii. Issue of Z 1,00,000, 6% debentures at 10% discount redeemable at par

1. 1 I ! )

iii. Issue of ¥ 1,00,000, 6% debentures at a premium of 5% redeemable at
10% premium.

iv. Issue of ¥ 1,00,000, 6% debentures at a discount of 5%, redeemable at

5% premium. _
o SECTION -C . (3x15..45)
Answer any THREE of the following questions in not less than two pages
9 g?aci‘-.3-2017 Shankar Ltd. issued 1,000 9% debenture of ¥ 100 each at par

redeemable at the end of fourth year at a premium of 5%. It was decided to instal|
a Debenture Redemption Fund for the purpose of redemption and investment is
expected to earn 4% interest. Sinking fund table shows that 0.235490 invested
annually amounts to ¥ 1 at 4% in 4 years. Investments made in multiples of ¥ 100
only. The investment realised ¥ 76,000.
Prepare Debenture Redemption Fund Account, Debenture Redemption Fund
Investment Account and Interest on Debenture Redemption Fund Account.

10. Following is the Balance Sheet of Kalpana Ltd. as on 31.03.2021

Liabilities Amount Asset Amount
| 40,000 equity shares of ¥ 10 Cash at bank 2,00,000
| each. 4,00,000
| 15,000 Redeemable Preferences Other Assets 6,25,000
shares of 10 fully paid up 1,50,000
10,000 Redeemable preference
' shares of 7 10, # 7 paid up 70,000
| Profit & Loss Account 1,75,000
Creditors 30,000
8,25,000 8,25,000

On the above date 15,000 preference shares are redeemed to the extent possible
at a premium of 10%. For this purpose, the company issued 1,000 fresh equity

shares of Z 10 each at a premium of 10%. Pass journal entries and redraft the
Balance Sheet.

11. The Balance Sheet of Hari Prasad Ltd. as on 31-3-2018 is as follows;

Liabilities = Assets T |
30,000 shares of % 10 each 3,00,000 | Goodwill 20,000 |
General Reserves 1,80,000 | Fixed assets 3,60,000
Provisions for Tax 20,000 | Investments - 5% Govt., 40,000
Bonqs
5% Debentures 1,00,000 | Current Assets 2,00,000
Creditors 50,000 | Preliminary WW
Discount on issue of 10,000 |
Debentures
6,50,000
The average profit of the com 2:30,000

and current assets ¥ 5,000 are more. Expected rate of return is 10

%. Compute the
value of goodwill of the company at four times in super profit,
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12. From the following extracted from the books of Datta Co. Ltd. Prepare its Balance
Sheet in the vertical form as on 31.3.2012

Paid-up Capital 4,00,000
General Reserves 28,000
Premises 3,30,000
Sundry Creditors 50,000
Bills Payable 40,000
Sundry Debtors 66,000
Investments (Long term) 52,000
6% Debentures 60,000
Machinery 1,10,000
Preliminary Expenses 5,000
Bills Receivable 10,000
Cash in Hand and Bank 26,000
Profit carried forward from the current year 15,700
Sales 1,20,000

Additional Information:
1) Transfer to general reserve 2 5,000
2) Depreciation on Premises 7 30,000 and on Machinery Z 10,000
3) Provide for 5% of Debtors as RBD and write off 1,000 from Preliminary
Expenses.
4) Closing Stock 2 36,000.
13. Following is the summerised Balance Sheet of Chethak Ltd. as on 31-3-2020

Liabilities Assets
40,000 shares of Z 10 each 4,00,000 | Goodwill 1,00,000
Reserve Fund 1,00,000 | Fixed Assets 4,50,000
Profit & Loss A/C 35,000 Current Assets 1,90,000}
9% Debentures 1,00,000 | Preliminary Expenses 25,000 \
Current Liabilities - 1,30,000 ‘ \
e 7,155,0m'ﬂ| | 7,65,000 |

For the purpose of valuation of shares fixed assets were valued at % 5,00,000 and
goodwill at ¥ 1,50,000. There is a necessity of RBD @ 10% on sundry debtors of

# 75,000. It found that stock was overvalued by ¥ 9,000.

The net profit for three years were ¥ 69,000, ¥ 71,800 and ¥ 90,200 respectively
after taxation. Out of this profit 20% was placed to reserve the proportion being
considered reasonable in the industry in which the company is engaged and where

normal rate of return is 10%. ST ALQYSIUS LLLGE ;
alue of each share by LIBRARY |
Compute the v JLIBRARY |

a) Net Asset Method
b) Yield Method

c) Fair Value Method
Contd...4
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14. From the following trail balance of Delton Ltd. Prepare Profit and loss account in
vertical format.
br | o
S =
Cash at bank 28'333
Machinery ig’OOO
15% MRPL bonds 4 1,200
Interest on investments (80% net) '
Sinking fund investments 25,000
Depreciation: machinery 4,000
Buildings 1,600
Buildings 80,000
Interest on debentures (till 30.9.2007) 2,000
Debtors and creditors 25,000 28,000
Purchases and sales 64,400 | 1,24,000
Sinking fund 25,000
Share capital (in 210 shares) 1,00,000
Interim dividend 5,000
Unclaimed dividend 200
Taxation provision 12,000
P &L a/c balance 6,000
Director’s fees 2,000
Carriage on purchases 2,500
Wages 18,000
Debenture discount 1,500
Interest on sinking fund investment 800
Wages outstanding 8,000
Stock on 1-4-2007 12,000
Goodwill 30,000
Taxes paid 10,000
Office expenses 6,000
Salary (for 11 months) 9,900
Bad debts 1,300
5% debentures 30,000
General reserve 32,300
Transfer fees 1,200
Provision for bad debts 1,500
*‘“‘ww
Adjustments:

a) Make provision for doubtful debts 5%on debtors
b) Debtors include goods sent on ap
of 20% on sale

€) Stock at close 2 25,000 (estimated m
d) Make transfer to sinking fund % 2,000

e) Write off 50% of discount on debentures
f) Provide for taxation ¥ 10,000

arket price is ¥ 22,500)

proval basis ¥ 5,000, so as to €arn profit

g) Tax liability for the accounting year 31.3.2007 is fixed at 2 9,000,

SECTION - b (Compuilsory)
Case study:

13.

% K 3 X K % ok % K %

(1x10= 10)

Write the format of the Companies Final Account as stated by the Companies Act.
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SECTION - A (10x2=20)

Answer any TEN of the following questions in 2 or 3 sentences each.
Define public finance,

What is meant by the Principle of Maximum Social Advantage?
What is Tax Revenue?

Define Tax.

What do you mean by Cannons of Taxation?

Give the meaning of a Direct Tax.

What is an Ad Valorem Tax?

State the meaning of a Degressive Tax. ST ALQYSIUS COLLEGE '
Define Wagner’s Law. LIBRARY

MANGALURU - 575 003 ‘
What do you mean by Public Debt?

Give the meaning of public Debt Redemption.
Bring out the meaning of Fiscal Policy.

SECTION -B (5x5=25)

Answer any FIVE of the following questions in not less than one page
each.

. Bring out the difference between Private Finance and Public Finance.
. Write a note on Externalities.

. Bring out the Classification of Public Expenditure.

. State and explain any three causes responsible for recent increase in public

Expenditure.

6. Explain the concept of GST and its impact.

7. Differentiate between Impact, Shifting and Incidence of a Tax.

8. Write a note on deficit financing.

11

12.
13.
14,

15,

SECTION - C (3x15=45)

Answer any THREE of the following questions in not less than two pages
each.

. What are the main sources of Public Revenue?
10.

Discuss the concept of Taxable Capacity. Explain the factors which determine
Taxable Capacity.

What is meant by Direct and Indirect taxes? Bring out their merits and
demerits

Discuss the various canons of public expenditure.

Describe the various methods of redemption of Public debt.
Explain the theory of principles of maximum social advantage.
SECTION - D (Compulsory) (1x10=10)

Explain the various canons of taxation.
KKK K K KK KK



(2019 Batch Onwards) B _ - D
G 404.3 Reg. No: ml

St Aloysius College (Autonomous)
Mangaluru _
B.B.A. Semester III - Degree Examination
February - 2023,
COMMERCIAL LAW

Max. Marks: 100
Time: 3 Hours PR (10x2=20)
1. Answer any TEN of the following questions in 2 or 3 sentences eac‘h:"_*“
a) Write a note on ‘Equity Law’. S'l‘;i!lﬂéS:JSA@é‘l’\l{;” -
b) Give the meaning of ‘Consensus ad idem’. MANGALURU - 575 003 |

c)
d)
e)
f)
)
h)
i)
j)
k)
1)

What is ‘Cross Offer? Give any one example.
What is ‘Present Consideration’? Give any one example.

Define ‘Capacity to Contract’ as per Section 11 of the Indian Contract Act.

What is meant by the concept: ‘Privity to Contract’?

Mention any two essentials of misrepresentation.

What is meant by ‘Novation’ of the contract? Give any one example.

What is *Subsequent impossibility’ in case of a contract? Give any one example.
What is meant by Contract of Indemnity? Give any one example.

List any four types of persons who are disqualified by law.

“Surety’s liability is co-extensive” — Explain.

SECTION - B (5x5=25)

Answer any FIVE of the following questions in not less than one page
each.

2. Briefly explain the sources of Indian Mercantile Law.

3. Explain the principle “Stranger to contract cannot sue”. Explain the statement

0 N o wu

10.
11.
e
13.
14,

15,

. What is meant by lapse of an offer? State t

. What do you understand by “necessaries of life”

with exceptions.

he circumstances under which an
offer lapses.

supplied to a minor? Explain.

. Define and explain coercion. Distinguish it from undue influence.

. Distinguish contract of indemnity from contract of guarantee.
. Explain the branches of law.

SECTION - C

(3x15=45)
of the following questions in not less than

two pages
Define a contract. Briefly explain the essential elements of a valid contract,

What is offer? Explain the legal rules as to valid offer,

Explain the agreements opposed to public policy.,

Explain the law relating to minor’s agreements.

Answer any TH REE
each.

Describe the various remedies available for breach of a contract,
Who is a surety? Explain the ways in which a Surety is discharged.

SECTION - D (Compulsory)
Case study:
Explain the Je
Baldeo’,

(1x10=10)
gal facts and judgement involved in the case ‘Durgaprasad VS

3 o ok o ok ok o ok g
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Ll Max. Marks: 100
SECTION - A (10x2=20)
1. Answer any TEN of the following questions in 2 or 3 sentences each.
a) What is retained earnings? | ST ALOYSIUS COLLEGE |

LIBRARY

b) What do you mean by payback period? MANGALURU - 575 003

c) What is cost of capital?

d) State the accept/reject rule under IRR method

e) What is time value of money?

f) What is capital rationing?

g) What are mutually exclusive projects?

h) What is financial leverage?

i) A company issues 13% irredeemable preference shares at ¥ 200 each. Calculate
the cost of preference shares.

j) Give the meaning of floatation cost.

k) What do you mean by conventional cash flow?

1) What is dividend payout ratio?

SECTION -B (5x5=25)

Answer any FIVE of the following questions in not less than one page

each.
2. Calculate weighted average cost of capital from the following assuming 50% tax

rate.
Source Amount (2) Before tax cost
Equity Shares 5,00,000 19%
Retained earnings 2,00,000 18%
Preference shares ~ 12,00,000 15%
Debentures 1,00,000 12%

3. A company has 10% perpetual debt of ¥1,00,000. The tax rate is 35%. Determine
the cost of capital (before tax and after tax) assuming the debt is issued
i) Atpar
ii) 10% discount
iii) 10% premium

Contd...2
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Determine optimum capital structure from the following

Debt Amount | After tax Cost of debt (Kd in %) | Cost of equity (Ke in %)
8,00,000 9 10

5,00,000 6 11

2,00,000 5 14

6,00,000 8 10

4,00,000 11 8

The Total amount of capital is  10,00,000.
Explain the profit-maximisation objective of financial management.
Write a note on traditional techniques of investment evaluation
Explain organisation of finance function in the organisation.
Glaxo Itd provides you the following information

a) Profit after tax before depreciation for 5 years.

Year Profit after tax before
depreciation
25,000

45,000
55,000
1,65,000
5 1,95,000
b) Investment ¥ 3,00,000.
c) Present value factor at 11% and 13% given below
P.V @ 11%: 0.901, 0.812, 0.731, 0.659, 0.593
P.V @ 13%: 0.885, 0.783, 0.693, 0.613, 0.543
Find out internal rate of return.

SECTION - C (3x15=45)
Answer any THREE of the following questions in not less than two pages
each.

Hl W N =

. An investment proposal will cost 2 5,00,000 and will have a life of 5 years and no

scrap value. Assuming straight line method of depreciation and tax rate of 40%
compute

a. Average rate of return

b. NPV @ 10%

c. PI@ 10%

d. Discounted payback period

The estimated cash inflows before tax from the proposed investment and Present
value factor are as follows

Year CFBTBD (%) PV @10%
1 1,40,000 0.909

2 1,60,000 0.826

3 1,80,000 0.751

4 2,20,000 0.68

5 2,00,000 0.621

Contd...3
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10. Calculate Financial leverage, operating leverage and combined leverage under

situation A and B for financial plan I and II from the following .

Actual production: 800 units

Selling price per unit 7 20

Variable cost ¥ 15

Fixed Cost: Situation A: # 800

Situation B: 1,500
Capital Structure:

Financial Plan

I II - jp—o
Debt Z 5,000 2 2,000 MANGALURU - 575 003
COSt Of debt 100/0 109/0

11. What is dividend policy? Explain the factors influencing dividend policy.
12. Define financial management. Explain the scope of financial management.
13. A company currently finances its project with equity of face value of ¥ 100
amounting to ¥ 5,00,000. The company is considering raising additional capital of
¥ 5,00,000. The following financing alternatives are:
i. To raise entire amount by issue of equity shares.
ii. To raise ¥ 2,00,000 by issue of 8% debentures and balance by equity.
iii. To raise ¥ 2,00,000 by issue of 9% preference shares and balance by
equity.
iv.  To raise entire amount by issue of 9% debentures.
The EBIT of the company is ¥ 2,00,000, the company falls in 35% tax
bracket.
Advise the company which of the above alternative should be selected.
14. Explain Significance of capital structure and factors determining capital structure.
SECTION - D (Compulsory) (1x10=10)
15. The following data relate to a company:
a) Earnings per share (EPS) 10
b) Rate of return on investment (r) 12%
c) Rate of capitalisation/cost of capital 10%
From the above information, calculate the value of company’s shares, using
Walter’s and Gordon’s Model under each of the following dividend payout

ratios:
k. 40%
ii. 60%

kkkkERkKEKRKK
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I. A)
3

2
3.
4
5.

B)

E\J

IL A)

wvos W

UNIT - 1 (PROSE)

Answer the following in a word/phrase/sentence each. (5x1=5)
Mention one of the traits that held Bruce Lee in good stead. _ _ _
; . si ALOYS:20 aiete 1
. Name one of the art forms inherited from the Tawaifs. L IBRARY J
MANGALURU - 575 003

What was the common maritime activity for the British? |

. The pervasive bureaucracy emphasized capital goods vis-a-vis consumer

goods. TRUE/FALSE
The roots of Democracy are to be searched in the

Answer any FIVE of the following in about 150 words each.  (5x5=25)
Write a short note on the history of Indian indentured labour?

How did Bruce Lee match his passion for gung fu with his interest in
philosophy? Explain.
Trace the change in the social position of tawaifs from “respectable

courtesans” to “item girls.”
What are the obstacles that prevent the end of caste system in India?

Explain.
Explain Dr Ambedkar’s views on “graded inequality.”

How according to Murthy, has information Technology helped in designing

customer-friendly goods?
Write a short note on historian Veena Oldenburg’s account of tawaifs.

UNIT - II (POETRY)
Answer the following in a word/phrase/sentence each. (5x1=5)

‘O God! Can I not grasp them with a tighter clasp’? What is the speaker
unable to clasp in the poem, “A dream within a dream?”
What are Elengi, payanni, Vatta and thanni?

What has happened to the finest flower in the poem, ‘The Unquiet Grave?’
Who is the foeman according to the poem, “Time to die?”

We sing, but the s vile. (complete the poetry line of the poem.

‘We Wear the Mask.”)
Contd...2
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I11.

IV. A.

Answer any FOUR of the following in about 120 words each: (4x5=20)

The poem, “We Wear the Mask”, is a commentary on tile silence of the
suffering. How would you respond to the tone of the poem .
How does the poet create the atmosphere of gloom to talk a!::out is lost
love? Explain with reference to the poem, ‘The Unquiet C_irave.

The mask becomes a symbol of both hiding and revealing. How does‘ the
poet justify wearing the mask? Explain with reference to the poem, ‘We
Wear the Mask.’ . . ’
Write the relation drawn by the poet between existence, sacn‘ﬁ(if: and death
with reference to the life of the slave in the poem, “Time to Die. .
What makes the speaker in the poem state that ‘All that we see or seem, is

but a dream within a dream?’
Write a short note on the ordinary jobs done by the rural folk and the threat

for these jobs with reference to the poem, ‘For the Dispossessed’

UNIT - III (SHORT - STORY)
Answer any THREE of the following in about 150 words each:
(3x5=15)

What changes did those fifteen years bring to the life and thoughts of the
old banker? Explain with reference to the story, “The Bet.”
How did the renunciation note of the prisoner affect the banker? Explain.

The chance element of the trial created excitement in the people who
attended these events. Comment on the medieval mind set of the people.
Write a short note on the strange nature of the king.

Write a note on the experience of the prisoner in the first two years of
confinement. Why did the music stop in the second year?

UNIT - IV (Grammar and Writing Skills)

Read the following passage carefully and write a precis of the same.

5 Marks

Books are a delightful society. If you go into a room filled with books even
without taking them down from the shelves, they seem to speak to you,
seem to welcome you, seem to tell you that they have something inside
their covers that will be good for you and that they are willing to impart it
to you. Value them and endeavour to turn them to good account. As to the
books which you should read there is hardly anything definite that can be
said. Any good book, that is wiser than yourself, will teach you something a
great many things directly or indirectly. If you mind be open to lazar, the

very wish and curiosity, you have to read it, indicate that

; _ you are a person
who likes to get good out of it.

Contd...3
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B. Choose appropriate words from the given list and fill in the blanks.
Smarks
When I worked in New York City, I took the train_from New

SRS

Jersey to work early in the morning. Thankfully, I was an riser
and heard my alarm £0 off since I was a sleeper. Before heading
out for a busy workday, I always the effort to make my bed. |
liked to make the time to do ) bemng my day, so when I got home
my bed was not a mess. the time _to be organized in the morning
allowed me to relax when | arrived home after a long day at work.

(early / fast / spending /light /made)

Choose appropriate phrasal verbs from the given list and fill in the
blanks. 5x1=5

The publishers are planning to a cheap edition of their new
dictionary.

Could you the volume a bit? It’s really loud.
Children may in class in an effort to get attention.
Fighting among a group of forty men.

The report the need for more staff.
(act up, break out, turn down, bring out, turn off, spell out, come up, set off)

Fill in the blanks with simple present/ Present continuous forms of
verbs given in parenthesis. S marks
[ am currently travelling with Liam, a student from Leeds University in
England. He (be) a nice guy, but impatient. He (walk, always)
ahead of me and (complain) that I am too slow. I
(do) my best to keep up with him, but he is younger and stronger than
I am. Right now, Liam (sit) with the owner of the inn. They are
discussing the differences between life in England and life in Nepal.

Read the following context carefully and write a report in about 200

words. S marks

The PR Executive, Ms Neena Gomes of Elite Matrimony Pvt Ltd, an online
matrimonial company based of Bangalore, has requested you to make a
study of the changing market demands of youngsters looking for a suitable
life partner. In particular, the organization is interested in how changing
salary packages, perceptions of society like caste, language, and religion,
and educational qualifications have altered the demands of youngsters.
There is a perception that today’s yOL}Ug,S‘EBFS-wanL_LO _prioritize career over

marriage 1 ALOYS; 1o oo i

' Li B R ARY -
Read the following context carefully an the meeting
in about 200 words. 5 marks

The union members of the local rickshaw drivers’ association consisting of
the President and union representatives have a meeting to discuss the
possible implications of another lockdown. The meeting lasts for two hours

with inputs being taken on possible moves and actions going forward.
Rk hkhhk
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St Aloysius College (Auton;IFOUS)

Mangaluru
B.A./B.Sc./B.Com./B.B.A./B.C.A. - Semester III Degree Examination

February - 2022
ADDITIONAL ENGLISH

Time: 3 hrs. Max Marks: 100
UNIT -1
(Prose)
1.  Answer any ONE of the following in about 150 words: (5x01=05)
: O What was the conflict between his personal and professional life that

Kfalam is talking about in the excerpt taken from his autobiography? How
did he solve it?

2. What is garbling? How does Sayers illustrate this form of distortion?

II. Answer any TWO of the following questions in 250 words each:
(2x10=20)

1. What were the hurdles that were faced by Kalam during his SLV-3 journey?
2. What are the various ways by which both fact and opinion can be distorted?
3. Describe Tagore’s idea of Freedom?

UNIT - II

(Poetry)
I. Answer the following in about 150 words each: (4x5=20)

1. In the poem ‘I, what are the qualities one should possess to become a
perfect man?
2. “Success is counted sweetest by those who ne'er succeed” Elaborate,
According to the poet, when should we keep calm? spamsiiiry
4. In the poem ‘If', how should a person develop humility in life? a'_:l ALQYSIUS QoLleus |
UNIT - III L‘BRARY'
= ALURU - 575 005 1
(Novel) o cisenn
1. Answer the following question in a sentence or two each: (1x5=05)

W

Who is Hukum Chand in “Train to Pakistan”?

Who was Lala Ram Lal? How did he die?

Who is Igbal in “Train to Pakistan”?

Who is given in-charge of the Muslim properties?

Why does the village decide to stand by their Muslim neighbours?

II. Answer any TWO of the following in about 300 words each: (2 X 10=20)
1. Analyse the role of women in the novel “Train to Pakistan”?

2. In particular, comment on the very differing characterizations of the men
whose lives in the novel become intertwined: Igbal and Jugga. How does the
ending of the novel change, If at all, our view of each?

3. How relevant is the title “Train to Pakistan”?
Contd...2
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G 140.3
UNIT - IV
(GRAMMAR AND VOCABULARY)
i (10)
& e einiof | el I:"alowlstor\,' as old as the human race. It's the

Cardamom, the queen of all spices, has a s id climate, loamy soil rich in
dried fruit of a herbaceous perennial plant. W!arglgsgg"gn and processing methods
organic matter, distributed rainful and special e aroma, flavour, Stre and i
all combine to make Indian cardamom truly uniqu are produced in India. The first
hes & parvot green colour. TWa types & Carda'mo‘rpcance as it is not traded in the
type Is the Jarge one. Wnigh has S L of the country. The second type
future market. It is cultivated in north-eastern area S riefiture vl Thoae
is produced in the southern states and these are traded | i b fufure: maTket
are mainly cultivated in Kerala, Tamilnadu and Ka_lrnataka. sp 2t later, it relaxed
rules, only 7 mm quality was previously traded in exchanges. Cardamom is an
its norms and now 6 mm quality is also traded in the exchz;nges. ‘

i ; i m is known in two main
expensive spice, secondly to safforn. Indian cardamo i enilatag
varieties : Malabar cardamon and Mysore cardamom. The Mysore VAREL .
leaves of cineol, limonene and hence is more aromatic. India is the world’s Iarges;
producer and exporter emerged as the leading producer and exporter o
cardamom.The main harvest season of cardamom in India is between .August-
February. Cardamom reaches at yielding stage two years after the plantation. The
primary physical markets of cardamom are Kumily Vandenmodu, Jhek_kady,
Puliyarmala in Kerala and Bodynaikkaur and Cumbum in Tamilnadu. Kerala is the
main producer of cardamom and contributes upto 60% in total prodL{cmon.
Karnataka produces around 25% of the total productioncardamom. Qoty is the
main producer of cardamom in Tamilnadu and contributes around 10-15% of the
total production. Besides India, Guatemala also produces around 1,000-2,000 t_on
cardamom per year. Due to low quality of cardamom from Guatemala, it remains
available at cheaper rates.

1. Mysore variety contains leaves of :
(a2) Limonene
(b) Cineol
(c) Both (a) and (b)
(d) None of these
2. Indian Cardamom is:
(a) Poor in quality
(b) Average in quality
(c) Better in quality
(d) None of these
3. Guatemala produces cardamom :
(a) More but poor in quality
(b) Less but good in quality
(c) More and good in quality
(d) Less and poor in quality
4. Main harvest season of cardamom in India is :
(a) August-February
(b) August-March
(c) November
(d) February-April .
5. Cardamom reaches at its yielding stage in :
(a) Immediately after plantation
(b) Depends upon the plantation
(c) One year after plantation
(d) Two years after plantation

Contd...2
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6. India produces cardamom of ;
' (a) One type
(b) Two types

(c) Three types
(d) None of the above

7. Which of the following is the variety of Indian cardamom?
' (a) Malabar cardamom

(b) Mysore cardamom
(c) Both (a) and (b)
(d) None of the above. taka?

8. Which of the following production of cardamom produces by Karnataka?
(a) 25%
(b) 10%
(c) 15%
(d) 60% :

9. Find the synonym of the word ‘distributor’ given in the passage 3.
(a) Expensive
(b) Known
(c) Producer
(d) Exporter

10.The synonym of the word ‘fragrance’ given in the passage 3.
(a) Aroma " S pp— 1’
(b) Variety ST }-’QLOYSIU& l‘d.al_e__l;'. s |
(c) Contain - a RARY
(d) Hence ifANGALURU - 575 003 |

II. Write a dialogue where you are being interviewed for the post of a
lecturer. (1x5=05)

II1. You have to speak in the morning assembly and tell the students about
the benefits of Yoga. Write a speech in 150-200 words. (1x5=05)

IV. Give one word substitution for the following (1x5=05)
(patricide, glutton, bonfire, posthumous, gourmet, bonsai, regicide, cartographer)

The one who loves good food and knows a lot about it
A person who draws maps

Published after someone’s death

A person who eats too much

The act of killing a king

bt B

V.) Fill in the blanks with appropriate CLICHES given in the brackets:

(1x5=05)

(the beginning of the end, a bed of roses, as easy as ABC, in the same boat, as a
Matter of fact, at death's door, the alpha and the omega)

1) . I was talking to him this afternoon,
2.)Jane was so ill that she was for three days,

3.)She's always complaining that she doesn't have €nough money, but we're aj|

v

4.) Who said life would be ?

5.)Joe's failing two of his courses was —————— i he dropped out soon
afterward.

3K 3 3K 3K 3K ok 3K K 3 K ke ok
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FRENCH
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Répondez aux 10 Question (10x2=20)
Que signifie la phrase ° Il voit la vie en rose.’
Que signifie la phrase * Il a donné son feu vert.’
Donnez deux qualité qu’on doit avoir si on est avocat.
Donnez deux qualité qu’on doit avoir si on est le chef d’entreprise.
Nomez les sports plus pratiquez en France.
Si vous aimez le couleur vert donnez de caractére.
Si vous detester le couleur noir donnez de caractére.
Quelle sont les sujets de conversation qu’on peut avoir avec un francais si on s’entend
bien.
Quels sont les sujets de conversation qu’on peut faire si on s’entend bien en France ?
Quel repas des Frangais peut durer pour au moins 3 heures ?
Dans les restaurants, qu’est-ce qu’on vous apporte gratuitement ?

I i .LLQ)S"U': - .
L IRRARY |
MANGALURU - 575 003

Remplissez avec le bon verbe (5x1=15)
(avancer — reculer - partir - arriver - revenir - reprtir— redescendre - monter - traverser —

accompagner)

Elle  alamontagne. Elle 4 pied.
Il lepont
Les courageux et les peureux
Je vais au médecin, si tu peux, tupeuxm’_____
Le 8 mai, a 9 heures, il __a Marseille de Paris. A midi, il 4 Marseille. Le 10 mai, il
___aMarseille. Le soir, il _ chezlui,a Paris.
Transformez les phrases en passive. (5x1=5)

20 septembre, vote de la loi des finances.
2004, inauguration du pont de Millau.
3 juillet, vol de quatre tableaux au musuge.
Construction d’un nouveau stade |’année prochaine.
Les enfants ramassent les fruits.
Transformez les phrases en passive. (5x1=5)
Un homme est renversé pas la voiture.
L’ambulance a été applelée par les passants.
Les témoignages seront ontorrogés par la police.
Les éléves font les exercise.
La petition a été signee par nos amies.

Contd...2
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V. Conjugez les verb au Subjectif

I faut que tu (faire)........ des efforts.
[ ne faut pas que vous (parler)......... pendant le cours.
Il est important qu’il (aller)....... ason rendez-v(.)u.s.
I1 faut que tu ( étre) ........ a I"heure chez le médicin.

Je serrai ravi qu’il (réussir) .....son concours.

SR L

: (5x1=35)
VL. Rapporter des paroles en direct
Le prof a dit qu’il pleuvait. Le prof it “............
Jean dit qu’il a mangé de fruit. Jeandit “..........
Il dit qu'il ne sortira pas. Marie dit “.............
Il dit q"il va rester chez lui. Mac dit “..........
Alexandre dit qu’il va faire le tour du monde. Il dit qu’il “.........

M b BB e

VIL Rapporter des paroles en indirect

« Je I'attendrai demain. » Iladitqu'il ........

« Elle est venue ici hier. Il a dit qu'elle ........

« Je pense 4 elle depuis hier. »Il raconte qu'il.........

« Un jour, je serai animateur de télé. »l a affirmé qu’un......
Jai vu une animatrice de télé. Il a dit.......

VIIL Mettez au temps convenable (10x1= 10)

S’il pense 4 vous, il vous ........ (écrire)

Si le train ne ne marchait pas, il .....(prendre) 1’avion pour New York.

Si tu as soif; ...... (boire) de I'eau.

Sinous............ (avoir) le temps, nous nous proménerions dans le bois.
Sije vais a Touba, je ....... (voir) la 2osque a Touba.

Sijétais a taplace, je ....... (changer)tous.

Si vous étiez parfait, vous ....... (faire) du ski de fond.

8il....... (finir) le travail ils préféraient partir plus tot.

. Si tu pratiquais, tu ....... (réussir) ton examen.

10. Si tu as ’appareil photo, ....... (prendre)une photo.

VO NS U E WL e

IX. a. Complétez avec le conditionnel (5x1=15)
B m— rencontrer Iactice francais. (aimer)

W a I’école demain. (arrive)

........ nous voir. (venir)

Nous ....... plus de dix milles. (vendre)

Les enfants ....... des excursions a I'étranger. (faire)

E.n-hmm.....
—
()

b. Utilisez le présent conditionnel et écrivez un texte Sivous gagniez une lotto de
10,000 euros, Qu'est-ce que vous feriez? (5%1=5)

X. DIALOGUE (10x1= 10)
1. Vous devez faire une activité originale( prominade & cheval,tour sur les montagnes russes
d’une foire etc) Mais deux d’entre vous ne sont pas d’accord.
ou
2. Un(e) ami(e) est parti(e) seul(e) en vacances dans un pays etranger. Elle devait rentrer il
y a trois jours. Vous n’arrivez pas a avoir de ses Nouvelles,

Contd...3
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XI. Ecrivez une Lettre (10x1=10)
Si vous avez visité des pays €trangers ou & un ami (e ) parlez des habitudes qui vous ont
frappé( e)
XIL Comprehension 10

Le frangais est la deuxiéme langue étrangére en Inde, aprés |'anglais. Parce que c'est une
langue facile a apprendre et une culture intéressante & connaitre, le frangais est trés
populaire parmi les autres langues étrangéres comme le russe et I'allemand. Dans le
milieu international, le frangais est une des langues officielles des Nations Unies
(I'ONU).

L'Inde a une population non négligeable de francophones. Dans les régions comme
Pondichéry, Yanam, Karaikal, Chandannagore et Mahé, le frangais était toujours la
premiére langue. Ces régions sont des anciens territoires frangais en Inde. Dans leurs
territoires, les Frangais ont encourage le fran¢ais comme langue de travail. Méme
aujourd'hui, a I'école d'Auroville & Pondichéry, le frangais est la langue d'instruction.
La propagation et I'enseignement du frangais en Inde sont la responsabilité de 1'Alliance
francaise et du Centre Culturel de ' Ambassade de France. Il y a aussi plusieurs instituts
et universités, ou le frangais est sujet principal. Ils offrent des cours a temps partiel et 2
plein temps. :

L'Université de Delhi a Delhi, I'Université Jawarharlal Nehru, situé a Delhi,]'Université
de Poona a Poona et Central Institute of English and Foreign Languages (CIEFL) a
Hyderabad sont quelques instituts qui offrent des programmes de licence (BA) en
frangais en plein temps. Pour obtenir une admission 4 ces instituts, il faut terminer les 12
ans d'études a I'école (10+2). Ces programmes donnent a un étudiant la possibilité de
suivre une carriére de “professionnel de langue ”. Pour des étudiants moins sérieux, ils
ont l'option d'un cours & I’ Alliance frangaise.

En Inde, il y a toutes sortes de personnes qui apprennent le frangais—les étudiants, les
cadres, les officiers du gouvernement, les couturiers, etc. Enfin, le frangais, c'est « a la

modg » ST ALOYSIUS COLLEGE
LIBRARY
MANGALURU - 575 0n3 !
Q.1 Répondez : (Ix2=2)

(i) Pourquoi le frangais, est-il trés populaire ?
(ii) Qui la responsabilité pour la propagation du frangais en Inde ?

Q.2 Cochez la bonne réponse : (1x2=2)
I. Ce texte :

(i) raconte la vie des Frangais en Inde.

(ii) parle d'une soirée a 'ambassade de France en Inde.

(iii) donne des conseils aux étudiants qui veulent apprendre le frangais en Inde.

[I. Un institut qui enseigne le frangais en Inde est :
(i) Max Mueller Bhavan.
(ii) Kamani Auditorium.
(iii) Alliance Frangaise.

Contd...4
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(1X4 = 4)

Q.3 Complétez avec les phrases du texte: e et PAllemand. (officelles

(i) Le frangais est populaire parmi les langues comme
€trangeres /anciens)

(i1) Le frangais est une des de I'ONU. (francophones / langues officelles / territoires)

(iii) L’ Alliance Frangaise a la ...... pour la propagation du frangais en Inde. (population /

résponsibilité / école)

(iv) Pour obtenir une admission 4 instituts....... terminer les 12 ans, d'études.
(il faut / ils offrent | apprendre)

Q.4 Dites vrai ou faux : (1x2=2)
(1) L'Inde a une population non négligable de francophones.......

(ii) Pondichéry et Yanam n'ont pas le frangais comme langue........

ke oo sk e ok ok ok ok ok ok ok ok ok
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1. 2OMEMo (a1 G0)G; (3x5 =15)

1, ©0Mo €nldUB NEIM®ONIg0 IO, oo

zomavenodam), cruau alam..

2. @00m @eym qim) “aflslowomawasndems) ST ALQYSIUS GOLLEGE
i LIBRARY |

051w m’lcgceml,sa"hﬂglsgﬁﬂmﬂ 2Inleaes”.
003

Y [ 1 - 575 ]
3. “awno) mlemRowl? mdamlconuesswanmm L _;r:ﬂi\b.GALURU

sM0]enoden emacemossl miaienym) B16o?

4. B0y, oqgemilag@emean?, (rusm,aem)
MOUBEOG0 BYEMEn|oUd M) &y len]sow aon],

II. a)emmMepAEmIm) @)0lag MQOENOSe)E: (3x5=15)
5. adlmemaslendn (woalemeeun agons es, aBsmlesmemeaiom?
6. ~dldadaslandn ayole el oo ANudles) s
7. MOl@ ojnewlege zonmmlene aan@mile] muoe ©)AloBGMBOMEBE1nM?
8. danmdvlmlaliees aLMA@EMOCDEe) V] udem e

III. Secsmamln oms) ajnewlad enilewonm DAWHOOHAY) W) S (1x10=10)

9. MUIOOM &EMEEaJOUs o s@omlggiaiamn amqYlenes é:sm)eanw
2{lom@U8 AgamonEs?

10. @uesomla onis allSlwoma@ AImaIoIm DUNNS) o e DEEElOM?
1V. BO0HOEWIM EME}ANEaE Gln@onG DOMOODY) O] S (1x10=10)
11, ~dlmdesmdouslondn andelmamda axloamen)nla) nlniclen)e
12. oanamilsleloes (aiwom DO SS9 NN2] Nflunlea)s
V. seasnEIm aymannem @ @)noam 2ODONNYL W) B> (1x15=15)
13. ©l0i00,658)05 Mnge@o® eryano A JEOROBN M 60) Snflm@osny
ugdom)osud-muadidlen) e

14. M0M)e MO @IMIgINe mulenss @yoreimue elmeld el
anuedlaflaflclenmamearliom 2

VI. BeFPOEBIM  aymMia0ee @ &jowonm RIGRIRLETO) PN (1x15=15)
15. nolmdeimdowioe 2mamagen)nlylo @a0es BONHO@ER) Va0 2no)esi] Alluclen)s

16. ~dlmeimauleondn @y cueED AUIMEEBEInsMTY AR O I6NE?
VII. sonspowln ajmjayoemn]cd @j0@oem semonne)om)e (1x15=15)

17. @m0 &1500m B0} (1UeaNEl&@OM am)aHemq-omiaicunemlse zoque
;Ailemarim] sares aommiléoniounom fleswloyomlsenosns medulen) e

18. nuaminicrune —snouiosmo OYONIEA} &
VIII.  aleninmo mgonosa)e (1x5=5)

19, mogless 2meang)es (Awom @)SIHUBBEMVICTVIW @)8o MuodeH]ensmeaqTy
@Nfluo 00100 cimuags @wl@odlevdes By aleninmoe mgonoen e
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February - 2002
FOUNDATION COURSE IN HUMAN RIGHTS AND VALUE EDUCATION

Time: 2 Hours Max. Marks: 50
PART - A
HUMAN RIGHTS

I. Answer the following in one sentence each. e et 1B =5}

1. Expand UDHR and Mention the date of its adoption. \“"‘E Llog‘é At'*'é'y

2. What is meant by citizenship rights? VANGALURU - 675 003 |

3. Who is the present chairman of National Human Rights Commission in India?

4. Who appoints the Chairman and members of the Minorities Commission?

5. Who founded PUCL?

II. Answer any ONE of the following in 8-10 sentences each. (5x1=5)

6. Write a short note on the challenges faced by transgender.

7. In September 1999 a sex worker in Calcutta was murdered by a prospective
client after she refused to have sex with him. When the case (Budhadhev
Karmaskar Vs State of West Bengal) went to the Supreme Court, the Latter
passed a landmark judgment, stressing prostitutes right to lead a life of dignity
as well.

a. Is'Right to life’ a Fundamental or a Human Right? (1 Mark)
b. How do you justify the judgement of the Supreme Court? (2 Marks)

c. Suggest some effective measures for the rehabilitation of women Sex
(2 Marks)

workers in India.
III. Answer any ONE of the following in 15-20 sentences each. (10x1=10)
8. Explain the origin and development of Human Rights.
9. Explain the role of NGOs and IGOs in protecting human rights.

IV. Answer any ONE of the following in 30-35 sentences each. (15x1=15)

10. Explain the powers and functions of Amnesty International.

11. Discuss the rights enshrined in the UDHR.
Contd...2
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PART - B
VALUE EDUCATION

(5x1=5)
age.
Answer any ONE of the following in not less than a pag
Define Marriage. Explain the significance of marriage-. o
Define family. Explain the characteristics of dysfunctiona
(10x1=10)

Answer any ONE of the following in not less than two
pages.

Discuss the methods of family planning. _ ok focbir Wi
What are the signs and symptoms of miscarriage Explain the ris

lead to miscarriage.

k% % ok ok % K K kK



